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1. Explain how securities firms differ from investment banks.  In what ways are they financial intermediaries?

Securities firms specialize primarily in the purchase, sale, and brokerage of securities, while investment banks primarily engage in originating, underwriting, and distributing issues of securities.  In more recent years, investment banks have undertaken increased corporate finance activities such as advising on mergers, acquisitions, and corporate restructuring.  In both cases, these firms act as financial intermediaries in that they bring together economic units who need money with those units who wish to invest money.

2.
In what ways have changes in the investment banking industry mirrored changes in the commercial banking industry?

First, both industries have seen a concentration of business among the larger firms.  This concentration has occurred primarily through the merger and acquisition activities of several of the largest firms.  Second, firms in both industries tend to be divided along product line services provided to customers.  Some national full-line firms provide service to both retail customers, in the form of brokerage services, and corporate customers, in the form of new issue underwriting.  Other national full-line firms specialize in corporate finance and security trading activities.  Third, the remaining firms specialize in more limited activities such as discount brokerage, regional full service retail activities, etc.  This business line division is not dissimilar to that of the banking industry with money center banks, regional banks, and community banks.  Clearly product line overlap occurs between the different firm divisions in each industry.

3.
What are the different types of firms in the securities industry, and how does each type differ from the others?

The firms in the security industry vary by size and specialization.  They include:


a)
National, full-line firms servicing both retail and corporate clients, such as Merrill Lynch.


b)
National firms specializing in corporate finance and trading, such as Goldman Sachs, Salomon Brothers and Morgan Stanley.


c)
Securities firms providing investment banking services that are subsidiaries of commercial banks. These subsidiaries continue to make inroads into the markets held by traditional investment banks as the restrictions imposed by the Glass-Steagall Act, which separates commercial banking from investment banking, are slowly removed.



d)
Specialized discount brokers providing trading services such as the purchase and sale of stocks, without offering any investment tips, advice or financial counseling.



e)
Regional securities firms that offer most of the services mentioned above but restrict their activities to specific geographical locations. 

4.
What are the key activity areas for securities firms?  How does each activity area assist in the generation of profits, and what are the major risks for each area? 

The seven major activity areas of security firms are:



a)
Investing: Securities firms act as agents for individuals with funds to invest by establishing and managing mutual funds and by managing pension funds. The securities firms generate fees that affect directly the revenue stream of the companies.


b)
Investment Banking: Investment banks specialize in underwriting and distributing both debt and equity issues in the corporate market.  New issues can be placed either privately or publicly and can represent either a first issued (IPO) or a secondary issue.  Secondary issues of seasoned firms typically will generate lower fees than an IPO.  In a private offering the investment bank receives a fee for acting as the agent in the transaction.  In best-efforts public offerings, the firm acts as the agent and receives a fee based on the success of the offering.  The firm serves as a principal by actually takes ownership of the securities in a firm commitment underwriting.  Thus the risk of loss is higher.  Finally, the firm may perform similar functions in the government markets and the asset-backed derivative markets.  In all cases, the investment bank receives fees related to the difficulty and risk in placing the issue.


c)
Market Making: Security firms assist in the market-making function by acting as brokers to assist customers in the purchase or sale of an asset.  In this capacity the firms are providing agency transactions for a fee.  Security firms also take inventory positions in assets in an effort to profit on the price movements of the securities.  These principal positions can be profitable if prices increase, but they can also create downside risk in volatile markets. 


d)
Trading: Trading activities can be conducted on behalf of a customer or the firm.  The activities usually involve position trading, pure arbitrage, risk arbitrage, and program trading.  Position trading involves the purchase of large blocks of stock to facilitate the smooth functioning of the market.  Pure arbitrage involves the purchase and simultaneous sale of an asset in different markets because of different prices in the two markets.  Risk arbitrage involves establishing positions prior to some anticipated information release or event.  Program trading involves positioning with the aid of computers and futures contracts to benefit from small market movements.  In each case, the potential risk involves the movements of the asset prices, and the benefits are aided by the lack of most transaction costs and the immediate information that is available to investment banks.


e)
Cash Management: Cash management accounts are checking accounts that earn interest and may be covered by FDIC insurance.  The accounts have been beneficial in providing full-service financial products to customers, especially at the retail level.


f)
Mergers and Acquisitions: Most investment banks provide advice to corporate clients who are involved in mergers and acquisitions.  This activity has been extremely beneficial from a fee standpoint during the 1990s.


g)
Back‑Office Service Functions: Security firms offer clearing and settlement services, research and information services, and other brokerage services on a fee basis.

5.
What is the difference between an IPO and a secondary issue?

An IPO is the first time issue of a company’s securities, whereas a secondary offering is a new issue of a security that is already offered. 

6.
What is the difference between a private-placement and a public offering?

A public offering represents the sale of a security to the public at large.  A private placement involves the sale of securities to one or several large investors such as an insurance company or a pension fund.

7.
What are the risk implications to the investment banker from underwriting on a best-efforts basis versus a firm commitment basis?  If you operated a company issuing stock for the first time, which type of underwriting would you prefer?  Why?  What factors may cause you to choose the alternative?

In a best efforts underwriting, the investment banker acts as an agent of the company issuing the security and receives a fee based on the number of securities sold.  With a firm commitment underwriting, the investment banker purchases the securities from the company at a negotiated price and sells them to the investing public at what it hopes will be a higher price.  Thus the investment banker has greater risk with the firm commitment underwriting, since the investment banker will absorb any adverse price movements in the security before the entire issue is sold.  

Factors causing preference to the issuing firm include general volatility in the market, stability and maturity of the financial health of the issuing firm, and the perceived appetite for new issues in the market place.  The investment bank will also consider these factors when negotiating the fees and/or pricing spread in making its decision regarding the offering process.

8.
How do agency transactions differ from principal transactions for market makers?

Agency transactions are done on behalf of a customer.  Thus the investment banker is acting as a stockbroker, and the company earns a fee or commission.  In a principal transaction, the investment bank is trading on its own account.  In this case the profit is made from the difference in the price that the company pays for the security and the price at which it is sold.  In the first case the company bears no risk, but in the second case the company is risking its own capital.

9.
An investment banker agrees to underwrite a $500,000,000, ten-year, 8 percent semiannual bond issue for KDO Corporation on a firm commitment basis.  The investment banker pays KDO on Thursday and plans to begin a public sale on Friday.  What type of interest rate movement does the investment bank fear while holding these securities?  If interest rates rise 0.05 percent, or 5 basis points, overnight, what will be the impact on the profits of the investment banker?  What if the market interest rate falls 5 basis points?

An increase in interest rates will cause the value of the bonds to fall.  If rates increase 5 basis points over night, the bonds will lose $1,695,036.32 in value.  The investment banker will absorb the decrease in market value, since the issuing firm already has received its payment for the bonds.  If market rates decrease by 5 basis points, the investment banker will benefit by the $1,702,557.67 increase in market value of the bonds.  These two changes in price can be found with the following two equations respectively:
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10.
An investment banker pays $23.50 per share for 4,000,000 shares of JCN Company.  It then sells these shares to the public for $25 per share.  How much money does JCN receive?  What is the profit to the investment banker?  What is the stock price of JCN?

JCN receives $23.50 x 4,000,000 shares = $94,000,000.  The profit to the investment bank is ($25.00 - $23.50) x 4,000,000 shares = $6,000,000.  The stock price of JCN is $25.00 since that is what the public must pay.  From the perspective of JCN, the $6,000,000 represents the commission that it must pay to issue the stock.

11.
XYZ, Inc. has issued 10,000,000 new shares.  An investment banker agrees to underwrite these shares on a best-efforts basis.  The investment banker is able to sell 8,400,000 shares for $27 per share, and it charges XYZ $0.675 per share sold.  How much money does XYZ receive?  What is the profit to the investment banker?  What is the stock price of XYZ?

XYZ receives $226,800,000, the investment banker’s profit is $5,670,000, and the stock price is $27 per share since that is what the public pays.  The net proceeds after commission to XYZ is $221,130,000.

12.
One of the major activity areas of securities firms is trading.


a.
What is the difference between pure arbitrage and risk arbitrage?



Pure arbitrage involves the buying and selling of similar assets trading at different prices. Pure arbitrage has a lock or assurance of the profits that are available in the market.  This profit position usually occurs with no equity investment, the use of only very short-term borrowed funds, and reduced transaction costs for securities firms.



Risk arbitrage also is based on the principle of buying low and selling high a similar asset (or an asset with the same payoff). The difference between risk arbitrage and pure arbitrage is that the prices are not locked in, leaving open a certain speculative component that could result in real economic losses. 


b.
What is the difference between position trading and program trading?


Position trading involves the purchase of large blocks of stock for the purpose of providing consistency and continuity to the secondary markets.  In most cases, these trades are held in inventory for a period of time, either after or prior to the trade.  Program trading involves the ability to buy or sell entire portfolios of stocks quickly and often times simultaneously in an effort to capture differences between the actual futures price of a stock index and the theoretically correct price.  The program trading process is useful when conducting index arbitrage.  If the futures price were too high, an arbitrager would short the futures contract and buy the stocks in the underlying index.  The program trading process in effect is a coordinated trading program that allows for this arbitrage process to be accomplished.

13.
If an investor observes that the price of a stock trading in one exchange is different from the price in another exchange, what form of arbitrage is applicable, and how can the investor participate in that arbitrage?


The investor should short sell the more expensive asset and use the proceeds to purchase the cheaper stock to lock in a given spread.  This transaction would be an example of a pure arbitrage rather than risk arbitrage.  The actual spread realized would be affected by the amount of transaction costs involved in executing the transactions.  

14.
An investor notices that an ounce of gold is priced at $318 in London and $325 in New York.  


a.
What action could the investor take to try to profit from the price discrepancy? 


An investor would try to buy gold in London at $318 and sell it in New York for $325 yielding a riskless profit of $7 per ounce.


b.
Under which of the four trading activities would this action be classified?


This transaction is an example of pure arbitrage.


c.
If the investor is correct in identifying the discrepancy, what pattern should the two prices take in the short-term future?


The prices of gold in the two separate markets should converge or move toward each other.  In all likelihood the prices will not become exactly the same.  It does not matter which price moves most, since the investor should unwind both positions when the prices are nearly equal.


d.
What may be some impediments to the success of the transaction?


The success or profitability of this arbitrage opportunity will depend on transaction costs and the speed at which the investor can execute the transactions.  If the price disparity is sufficiently large, other investors will seize the opportunity to attempt to achieve the same arbitrage results, thus causing the prices to converge quickly.

15.
What three factors are given credit for the steady decline in brokerage commissions as a percent of total revenues over the period beginning in 1977 and ending in 1991?

The reasons often offered for the decline in brokerage commissions over the last twenty years are the abolition of fixed commissions by the SEC in 1975, the resulting competition among firms, and the stock market crash of 1987.  The stock market crash caused a decline in the amount of equity and debt underwriting which subsequently had a negative effect on income.  Although the equity markets have rebounded during the 1990s, the continued growth of discount brokerage firms by depository institutions and the advances of electronic trade will likely affect commissions for an extended period of time.

16.
What factors are given credit for the resurgence of profitability in the securities industry beginning in 1991?  Are firms that trade in fixed-income securities more or less likely to have volatile profits?  Why?

Profits for securities firms increased beginning in 1991 because of (a) the resurgence of stock markets and trading volume, (b) increases in the profits of fixed-income trading, and (c) increased growth in the underwriting of new issues, especially corporate debt issues. 

However, profits from trading in fixed-income instruments are volatile, especially if interest rate changes are rather common. Hence, even though profits in fixed-income trading were up in 1993, they declined in 1994 because interest rates increased quite suddenly.  Many firms with exposed interest rate instruments reported large losses.
17.
Using Table 4-6, which type of security accounts for most underwriting in the United States?  Which is likely to be more costly to underwrite: corporate debt or equity?  Why?

According to Table 4-6, debt issues were greater than equity issues by a ratio of roughly four to one in the middle 1980s and a ratio of sixteen to one in the early 2000s.  Debt is less risky than equity, so there is less risk of an adverse price movement with debt compared to equity.  Further, debt is more likely to be bought in larger blocks by fewer investors, a transaction characteristic that makes the selling process less costly. 

18.
How do the operating activities, and thus the balance sheet structures, of securities firms differ from the operating activities of depository institutions such as commercial banks and insurance firms?  How are the balance sheet structures of securities firms similar to other financial intermediaries?

The short-term nature of many of the assets in the portfolios of securities firms demonstrates that an important activity is trading/brokerage.  As a broker, the securities firm receives a commission for handling the trade but does not take either an asset or liability position.  Thus, many of the assets appearing on the balance sheets of securities firms are cash‑like money market instruments, not capital market positions.  In the case of commercial banks, assets tend to be medium term from the lending position of the banks.  Insurance company assets tend to be invested reserves caused by the longer-term liabilities on the balance sheet.

A major similarity between securities firms and all other types of FIs is a high degree of financial leverage.  That is, all of these firms use high levels of debt that is used to finance an asset portfolio consisting primarily of financial securities. A difference in the funding is that securities firms tend to use liabilities that are extremely short term (see the balance sheet in Table 4-7). Nearly 33 percent of the total liability financing is payables incurred in the transaction process.  In contrast, depository institutions have fixed-term time and savings deposit liabilities and life insurance companies have long-term policy reserves.

19.
Based on the data in Table 4-7, what were the second largest single asset and the largest single liability of securities firms in 2003?  Are these asset and liability categories related?  Exactly how does a repurchase agreement work?

The second largest asset category was a reverse repurchase agreement, and the largest liability was a repurchase agreement.  When a financial institution needs to borrow funds, one source is to sell an asset.  In the case of financial assets, the institution often finds it more beneficial to sell the asset under an agreement to repurchase the asset at a later time.  In this case, the current money market rate of interest is built into the agreed upon repurchase price, and the asset literally does not leave the balance sheet of the borrowing institution.  The borrowing institution receives cash and a liability representing the agreement to repurchase.  The lending institution, which has excess funds, replaces cash as an asset with the reverse repurchase agreement.  

20.
How did the National Securities Markets Improvement Act of 1996 (NSMIA) change the regulatory structure of the securities industry?

The NSMIA removed most of the regulatory burden that had been imposed by individual states, effectively giving the SEC exclusive regulatory jurisdiction over securities firms.

21.
Identify the major regulatory organizations that are involved with the daily operations of the investment securities industry, and explain their role in providing smoothly operating markets.

The New York Stock Exchange and the National Association of Securities Dealers monitor trading abuses and the capital solvency of securities firms.  The SEC provides governance in the area of underwriting and trading activities of securities firms, and the Securities Investory Protection Corporation protects investors against losses up to $500,000 when those losses have been caused by the failure of securities firms.

22.
What are the three requirements of the U.S.A. Patriot Act that financial service firms must implement after October 1, 2003?

FIs must (1) verify the identity of people opening new accounts; (2) maintain records of the information used to verify the identity; and (3) determine whether the person opening an account is on a suspected terrorist list.

1
32

_991667830.unknown

_991667924.unknown

